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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. “The law of diminishing returns is due to the imperfect

substitutability between factors of production.” Discuss.

ßÎkleku izfrQy fu;e lk/kuksa ds chp viw.kZ izfrLFkkiékrk ds

dkj.k ykxw gksrk gSAÞ foospuk dhft,A

2. “A discriminating monopolist adjusts his sales in such a

way that marginal revenue obtained from selling an

additional unit of output in any one market is the same

for all the, markets.” Explain and illustrate.

ß,d foHksndkjh ,dkf/kdkjh viuh fcØh dks bl <ax ls lek;ksftr

djrk gS fd fdlh ,d cktkj esa mRiknu dh ,d vfrfjDr bdkbZ

dks cspus ls izkIr lhekUr vkxe lHkh cktkjksa ds fy, ,d leku

gh gksxkAÞ O;k[;k dhft,A
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3. Explain the equilibrium of the firm in the factor market

with the help of the marginal productivity theory under

conditions of perfect competition.

iw.kZ izfr;ksfxrk ds vUrxZr] lhekUr mRikndrk fl¼kUr dh lgk;rk

ls lk/ku cktkj esa QeZ ds lUrqyu dh O;k[;k dhft,A

4. Differenciate between rent, quasi rent and explain how

quasi rent arises under dynamic conditions ? What is

the importance of the quasi rent concept in the economic

principles ?

yxku] vkHkkl&yxku ,oa ykHk ds chp Hksn dhft, vkSj crkb,

fd xfr'khy ifjfLFkfr;ksa esa vkHkkl yxku dSls mRiék gksrk gS \

vkHkkl&yxku dh /kkj.kk dk vk£Fkd fl¼kUrksa esa D;k egRo gS \

5. “The rate of interest, at any time, being the reward of

parting with liquidity, is a measure of unwillingness of

those who possess money to part with their liquidity

control over it.” (Keynes) in the light of this statement,

examine critically the Liquidity preference theory of

interest profounded by Keynes.

ßfdlh Hkh le; fo'ks"k ij C;kt nj rjyrk dk ifjR;kx djus

dk ikfjrksf"kd gksrh gSA ;g O;fDr;ksa }kjk /ku ij rjy fu;a=.k

NksM+us dh vfuPNk dh Hkh ekid gksrh gSAÞ (dsUl) bl dFku ds

izdk'k esa dsUl }kjk izfrikfnr rjyrk vf/keku fl¼kUr dh

vkykspukRed ijh{kk dhft,A
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Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. Explain the basis of increasing returns to scale.

mRiknu iSekus ls lEc¼ o/kZeku izfrQy voLFkk ds vk/kkj dh

O;k[;k dhft,A

2. Explain how a firm is successful in getting minimum

cost combination of production factors ?

Li"V dhft, fd mRiknu lk/kuksa dk U;wure ykxr la;ksx izkIr

djus esa QeZ dSls lQy gks tkrh gS \
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3. Why the short run average total unit cost curve of a

firm is ’U-shaped’ ? Explain.

vYidkyhu vkSlr dqy bdkbZ ykxr oØ U vkÏfr dk D;ksa

gksrh gS \ O;k[;k dhft,A

4. “The problem before a firm under conditions of perfect

competition is to determine its output only.” Discuss.

iw.kZ izfr;ksfxrk ds vUrxZr QeZ ds le{k ,d gh leL;k gksrh gSA

vFkkZr~ mRiknu ek=k dks dgk¡ ij fu/kkZfjr fd;k tk,A O;k[;k

dhft,A

5. Is monopoly price necessarily higher than the

competition price ?

D;k ,dkf/kdkjh }kjk fu/kkZfjr dher izfrLi/kkZ dh dher ls

vfuok;Z :i esa vf/kd gksrh gS \

6. “Rent does not determine price but is determined by

price.” Comment.

ßyxku ewY; dks fu/kkZfjr ugha djrk oju~ ewY; }kj fu/kkZfjr gksrk

gSAÞ foospuk dhft,A
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7. “Interest rate is determined by monetary powers.”

Discuss.

ßC;kt dh nj ekSfæd 'kfDr;ksa ls fu/kkZfjr gksrh gSAÞ foospuk

dhft,A

8. Explain and criticize Clark’s dynamic theory of rent.

izks- DykdZ ds ykHk ds xfr'khy fl¼kUr dh O;k[;k ,oa vkykspuk

dhft,A

**************


